
Estimating DCMs Using Mplus

NCME 2012: Diagnostic Measurement Workshop1

Chapter 9 Example Data

Item Attribute 1 Attribute 2 Attribute 3

1 1 0 0

2 0 1 0

3 0 0 1

4 1 1 0

5 1 0 1

6 0 1 1

7 1 1 1

• Example assessment 

– 7 items

– Measuring 3 attributes

• Q‐matrix



Data File

• Generated 10,000 respondents

• Found on Diagnostic Measurement website: 
http://projects.coe.uga.edu/dcm/supplemental/chapter9.html

• Format: Tab delimited text file

Scored Response to All 7 Items 
True
Class

True Parameters

• Simulated Item Parameters
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True Parameters

• Simulated Item Response Probabilities
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Getting started with Mplus

• Mplus syntax files are ASCII‐text files

• Lines cannot exceed 80 characters in length

– Start a new line to avoid exceeding the limit

• Statements end with a semicolon

– If you start a new line, it will read until the semicolon

• Syntax is arranged by sections

• Syntax is case insensitive

• Make comments in Mplus by using a ! before a line

– Mplus will not process lines that begin with a !
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Initial Syntax

Title line doesn’t end in a 
semicolon.

“truec” is the true latent class; 
this variable is not used in the 
analysis.

x1‐x7 are the labels for the 7 
items

“c” is the label for the latent 
classes.

8 is the number of latent 
classes ሺ2஺ሻ
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Next steps to take
1. Build Mplus MODEL CONSTRAINT Command Syntax

‐ Specifies LCDM model parameters.

2. Build Mplus MODEL Command Syntax
‐ Places labels on all Mplus parameters (thereby enforcing confirmatory model on classes).

To do this, we need first to: 

1. Create a Latent Class‐to‐Attribute Profile Table
‐Mplus uses generic latent classes in estimation – we must make these into DCM attribute profiles.

2. Create an Item to Profile Table
‐ Specifies the form of the LCDM for each combination of item and profile. It will be used to build 
model syntax.

3. Create Item Response Function Labels
‐ Defines the set of unique item response functions for each item (based on the set of attributes 
measured by the Q‐matrix). Used by Mplus to specify LCDM parameters.

4. Create the Structural Model
‐ For limiting the number of correlational parameters needed; aids in estimation speed and 
convergence.
We will save this for later and use the default option in Mplus now. 
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1. Create a Latent Class‐to‐Attribute Profile Table

• 3 attributes yield  ଷ attribute patterns or 
classes

• A standard (conventional) way to assign classes 
an attribute pattern or profile:

Class 
Attribute 

1
Attribute 

2
Attribute 

3
1 0 0 0
2 0 0 1
3 0 1 0
4 0 1 1
5 1 0 0
6 1 0 1
7 1 1 0
8 1 1 1
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2. Create an Item to Profile Table

• Specify the LCDM kernel for each class…and for each item

A1 A2 A3

1 0 0

0 1 0

0 0 1

1 1 0

1 0 1

0 1 1

1 1 1
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3. Create Item Response Function Labels

• Next, we need to specify the unique item response functions for each item 
in the Item‐to‐Profile table. The labeling convention we will use will follow 
the form of t[i]_[#]: 
– t represents that label is a threshold (Mplus definition for LCDM item 

response function) 
– [i] is the item used (omit brackets)
– [#] is the index for unique item response function for an item. 
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3. Create Item Response Function Labels

• Item 1

Same kernel; same threshold.  Same kernel; same threshold.
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3. Create Item Response Function Labels

• Item 4

t4_1 t4_2 t4_3 t4_4
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3. Create Item Response Function Labels

• Item 7

– Each kernel is different for each class.

– 8 different thresholds; one for each class
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4. Create the Structural Model

• We will talk about this later. 

• For now, we will use the Mplus default of a 
saturated log‐linear structural model. 
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Thresholds in Mplus
• Mplus models the probability of an incorrect response instead of 

a correct response

• We need to make our thresholds (kernels) negative to model the 
probability of a correct response: 

• ܲ ௜ܺ௥ ൌ 0 ൌ ୣ୶୮	ሺఛ೔ೝሻ

ଵାୣ୶୮	ሺఛ೔ೝሻ

• ܲ ௜ܺ௥ ൌ 1 ൌ ୣ୶୮	ሺିఛ೔ೝሻ

ଵାୣ୶୮	ሺିఛ೔ೝሻ

• Not sure? Try some numbers…let kernel (߬௜௥) = ‐2:

• ܲ ௜ܺ௥ ൌ 0 ൌ ୣ୶୮	ሺఛ೔ೝሻ

ଵାୣ୶୮	ሺఛ೔ೝሻ
ൌ ୣ୶୮	ሺିଶሻ

ଵାୣ୶୮	ሺିଶሻ
= .1193

• ܲ ௜ܺ௥ ൌ 1 ൌ ୣ୶୮	ሺିఛ೔ೝሻ

ଵାୣ୶୮	ሺିఛ೔ೝሻ
ൌ ୣ୶୮	ሺଶሻ

ଵାୣ୶୮	ሺଶሻ
= .8807
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Mplus MODEL CONSTRAINT section

LATER
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MODEL CONSTRAINT section
• Items 1 & 2 (and 3) measure 1 attribute

ܲ ௜ܺ௥ ൌ 1 ൌ
exp	ሺെ߬௜௥ሻ

1 ൅ exp	ሺെ߬௜௥ሻ

Order constraints ensure 
monotonicity: possession of an 
attribute should never lead to a 
decrease in probability of 
answering an item correctly. 

Main effects 
are 
constrained 
to be greater 
than zero. 
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MODEL CONSTRAINT continued
• Item 6 (and 4 & 5) measures 2 attributes

• These constraints stem from two inequalities:
 L6_0 + L6_12 < L6_0 + L6_12 + L6_13 + L6_223 

 L6_0 + L6_13 < L6_0 + L6_12 + L6_13 + L6_223 

Two‐way interactions must be greater 
than the negative of each main effect. 
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• Item 7 measures 3 attributes

• This constraints stem from inequalities like:

L7_0 + L7_11+ L7_13 + L7_ 213    <    
L7_0 + L7_11+ L7_12 + L7_13 + L7_212 + L7_ 213 + L7_223 + L7_3123

MODEL CONSTRAINT continued
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Mplus MODEL section

• Comes before MODEL CONSTRAINT in code, 
although we did MODEL CONSTRAINT first today.

more later
NCME 2012: Diagnostic Measurement Workshop 21

MODEL section
Use item response function labels table to complete this section of code  
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Output Options

• In this session, we will look at output that gives 
us parameter estimates for our respondents and 
items.

• In a later session, we will examine goodness‐of‐
fit statistics in output that you get from TECH10. 

NCME 2012: Diagnostic Measurement Workshop
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Estimated Classifications

• Gives the proportion of respondents in each class

• 24.81% of respondents are in Class 1

– Have attribute profile [000] (mastered no attributes) 

• 21.66 % of respondents are in Class 8 

– Have attribute profile [111] (mastered all attributes)  24



Estimated Item Parameters

LATER We don’t mind if 
the intercept is 
equal to zero. That 
would just mean 
non‐masters have 
.50 probability of 
answering the item 
correctly. 

This test is invalid 
because we 
constrain main 
effects to be 
greater than zero. 

We use this test to 
see if the 
interactions are 
significant. 

Ho: Parameter = 0
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Interpreting Results for Item 4

We reject the null 
hypothesis.

We keep the interaction 
parameter in the model. 

• Compare to the simulated parameters:

Ho: Parameter = 0
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Estimated Respondent Parameters

Most Likely Class
Probability of Membership 

in Each Class

Respondent 1 

Respondent 2 

Respondent 3 

Respondent 4 

Respondent 5 

• These are from SAVE:CPROBABILITIES option. 

• File respondent_ex9.1 is on book website: 

Scored response to 7 items  MAPEAP Estimates for All 8 Classes
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